—{te LA 448/l o LR AL 1/ —In 5 LLEN R i — iR R > =Y
LR IR B R

SR

— Fints | mmlLaEeE] W
ianega s —mnesn |LE mE | B% B A Vs
SHTO01 SHT11 SHT21 BIEX — 4
SHT02 | SHT12 SHT22 BMEHERREL BE%, REREHVIS0-, BEEEyN- f IS
SHT06 | SHT16 SHT26 gc};;@f W —
SHTO07 SHT17 SHT27 3 |9CriBMoRFEERmIA HRC52~| BEE, BREEHI-, BREE M-
J ".
— i L AR | Wi LEAR L | RS L AR — R YRR
SHT01/02/06/07 | (SHT11/12/16/17 | SHT21/22/26/27
VN T\ 1 B
2:C o, v/ ‘ 2-C )\%‘00-4 5\?/& ‘
| / ! ‘
a8 Té’ i T & -——a—{rd
| I
] ‘ A 8|
L | L
0 BE/E%E/EEE/ AREERRN/ERES T, BERSHM~=REN.
O IESRAENTES (BRURKIKE+10mmER) ARESENTRIRKSN M SERERR, FHEESHSHMTE. Mt E—0m
@ —inTs L FhiRLLtE @ —i LR R 22 1 — i PO R £ Y
s L ERT c s L M BRY -
&8 | Do |BANBIBENEM] FGES) | D REB | Des [R/NPAIT g BE/\Efi1)] FO%ERE) [ D
6[38%| 16~600 | 5~20 |4 5 6 |:8:89%] 16~600 |3 5~20 |4 5
8 5-25 |4 5 7 8 345 5-25 |45 7
I~ 1-0.005 ~ |~ {-0.005 -
10]00u| 167800 T T4 5 9 10]00ta| 167800 1556 5~30 |45 9
[12] 5~35 5 10 0.5 [12] 4568 5~35 5 100.5
z:lglﬁ 16~1000| 5~40 5 11 AT ::I:;g 16~1000| 4568 5~40 5 11 4T
sHTos 18] 0617 5~45 56 |13 sHT26115] 5017 456810 5~45 56 |13
shTo7 1] 5~50 56 |14 SHT27L18! 456810 5~50 56 |14
18 16~1200 5755 56 |16 18 16-1200| 45681012 5~55 56 |16
[20] 5~65 6 7|18 | 20] 6810 12 5~65 67|18
25|39 5~80 6.7]23 |2 [25] 0007 810 12 16 5~80 67230
30 16~1500] 5~95 7|28 30 16~1500 810 12 16 2024| 5~95 7|28
s FEhiB e N -
@WWZM@—*E - PRI BABE
=1 L BH/N Y = S
R | Dw | B/NRNIA B @ISR E @) [Dr] : ZEIRIRE BRI LC
6]5:8%4] 16~600 5-20 |4 5 ST O FNE(0.1
3 525 25 7 @ L <3008 fyL+0.03;
—— 3001 16~800 C ‘ 300<L <6003 & Syl +0.05;
10| 5~30 45 9 0.5 LC L=600Z5E AL 0.1
sur11 112 5~35 5 0[5
shm12 3] 16~1000 | 5~40 5 11
15504 5~45 56 |13 Lc ‘
SHT16 [ |
shT17 18] 5~50 56 |14
18 16~1200 5~55 56 16 EIM MR FE ER5L| SC5
[20] 5~65 6718 aE=d\C v
iz 5-80 6 7232 DT wW v
30 16~1500 | 5~95 7 28 8 7] 8
0 8
@ —inT EaniRsLts sc()
sniosen [E100
@ ®B | D el Ly W 4] 10
& “SHIDY | ® | 162P00 | 5€20 | @ G
SHT02 [ 8 16~800 | 5~25 45 0 7
ERERTH HT01—D6—L50 —B6 —F4 522
BRER SHTO 6 ST 15 OfUERSHT21~27.
@ FinTs L ShiRse e
méi? o] - AB | EF AR E [EELS£]EC10-K8
SHTT) | ® | 16€600 | 5620 | @ ECO . KO | omheafn
SHT12 [ 8 16~800 | 5~25 45 H & D h
SHT11—D6—L80—A10—B10— E4—F4 ﬂjﬁﬂ% 15 1
s , EC() 20~30 | 2
@ —if i LERNIR A E—ifk PUIRLEY Ec() Ko
i‘% L M B F AH—J‘ <
KB D —
SHTZI | ® | 166600 | & 5620 | @ m ]
SHT22 | 8 | 16~800] 3 4 5| 5~25 45
SHT21—D6—L50—M3—B6— F4
O e LA ERNEINTAY, SINTEBZIAERE2mmLL L,
— ) @ THENT TR =R IE.
*W%? 5 L AB E'F | EEMIAD @ wxh = ﬁ*ﬁﬁ
® | 16600 | 5€20 @ =
S | [ 8 [16-800] 5~25 o EcO 15 [ 95% SR

SHT11—D6—L80—A10—B10—E4—F4—LC FHUNGT)



	页 13

